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QUESTION 1

When processing the service input parameter, the values of parameter A and parameter B need to be combined into
parameter C. Which of the following translator needs to be configured? 

A. Combine-message 

B. Related-model-search 

C. Simple-data-mApping 

D. Attachment-translator 

Correct Answer: A 

 

QUESTION 2

The keystore certificate file which is uploaded when creating the interface or Keystore cannot be downloaded. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 3

Which of the following components is used to check whether the duplicate data exists in a field? 

A. Text Input 

B. Date Input 

C. Date and Time Check 

D. Data Exist Check 

Correct Answer: D 

 

QUESTION 4

How many SOAP interfaces are required when the Outbound SOAP interface uses the Oauth2 authentication? 

A. 1 

B. 2 

C. 3 
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D. 4 

Correct Answer: B 

 

QUESTION 5

Model A is set with three text type\\'s primary keys which are namel, name2, and name3. When the namel=aa/
name2=bb, and name3=cc are entered, what is the value of the model\\'s keycode field? 

A. aa;bb;cc 

B. aa 

C. aa, bb, cc 

D. aabbcc 

Correct Answer: C 
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